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1. The convicted criminal absconded prior to the sentencing phase of the 
trial. Absconded means 

A. Touched the jury. 
B. Reported immediately. 
C. Left after discussion. 
D. Departed secretly. 
ANSWER: D 

 

2. There was a news in the newspaper about a homicide. Homicide means 
A. A person killing another person 
B. A person having poison 
C. A person selling poison 
D. A theft crime 
ANSWER: A 

 

3. Choose the different word from the options 
A. Tired 

B. Worn out 
C. Exhausted 
D. Energetic 
ANSWER: D 

 

4. Which one of the following options is the best synonym for jubilation? 
A. Function 
B. Joy 
C. Destruction 
D. Completion 
ANSWER: B 

 

5. Which one of the following options is the best antonym for antidote? 
A. Medicine 
B. Cure 
C. Poison 
D. Remedy 
ANSWER: C 

 

6. Choose the correct spelling 
A. Amatuer 

B. Amature 
C. Amateur 
D. Ameteur 
ANSWER: C 

 

7. Find the incorrectly spelt word 
A. Annex 
B. Aniversary 

C. Animate 
D. Animosity 
ANSWER: B 

 

8. The man to who I sold my house was a cheat. Replace the bold part with 
grammatically correct sentence. 

A. To whom I sell 
B. To who I sell 

C. Who was sold to 
D. To whom I sold 
ANSWER: D 
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9. Where Sarah live? Fill in the blanks with the appropriate 

option. 

A. Does 
B. Do 
C. Is 
D. Has 
ANSWER: A 

 

10. If only I richer. Fill in the blanks with the appropriate 

option. 

A. Would 
B. Were 
C. Will 
D. Will be 
ANSWER: B 

 

11. Joe, have you met your new boss? Select the answer choice that 
identifies the noun in the sentence. 

A. Have 
B. Met 
C. Your 
D. Boss 
ANSWER: D 

 

12. It drizzling throughout the previous day. Fill in the 

blanks with the appropriate verb. 

A. Kept 
B. Keeps 
C. Keep 
D. Keeping 
ANSWER: A 

 

13. He heard the train coming. Fill in the blanks with the 

appropriate verb. 

A. Were 
B. Was 
C. is 
D. Will 
ANSWER: B 

 

14. We saw animals at the zoo. Fill in the blanks with the 

appropriate adjective. 

A. Much 
B. Many 
C. Lot 
D. All the given choices 
ANSWER: B 

 

15. Is this ice-cream for ...... or for you? Fill in the blanks with the 
appropriate pronoun. 

A. He 
B. Mine 
C. I 
D. Me 
ANSWER: D 
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16. Success is only for those who believe in hard working. Find the 
relative pronoun in the sentence. 

A. Who 
B. Success 
C. Is 
D. Only 
ANSWER: A 

 

17. What does the idiom ‘ The elephant in the room’ mean? 
A. The useless person in the room 
B. Fat person in the room 
C. Main problem 
D. Silly issue 
ANSWER: C 

 

18. Don’t try to throw dust into my eyes. You will not succeed. What does 
the bold part mean? 

A. To protect my eyes 
B. Blind me with dust 
C. To mislead or confuse me 
D. To get angry at me 
ANSWER: C 

 

19. What does fabricate mean? 
A. To make up 
B. Announce 
C. Discover 
D. Uncover 
ANSWER: A 

 

20. Which of the following word best express the meaning of HAGGLE? 
A. Crisis 
B. Ignore 
C. Bargain 
D. Impeach 
ANSWER: C 

 

21. Which gas is safe and an effective extinguisher for all confined 
fires? 

A. Nitrogen dioxide 
B. Carbon dioxide 
C. Sulphur dioxide 
D. Nitrous Oxide 
ANSWER: B 

 

22. The fluid part of blood is known as 

A. Plasma 
B. Platelets 
C. Blood Cells 
D. Hormones 
ANSWER: A 

 

23. How many numbers of rings are present in the Olympic flag? 
A. 4 

B. 5 
C. 6 
D. 7 
ANSWER: B 
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24. The term ‘Butterfly Stroke’ is referred to in which sport? 
A. Wrestling 
B. Volleyball 
C. Tennis 
D. Swimming 
ANSWER: D 

 

25. Who won Copa America 2021? 
A. Argentina 
B. Brazil 
C. Colombia 
D. Peru 
ANSWER: A 

 

26. 'Dandia' is a popular dance of 
A. Punjab 

B. Gujarat 
C. Tamil Nadu 
D. Maharashtra 
ANSWER: B 

 

27. 'The Golden Threshold’ is a collection of poems written by: 
A. Annie Besant 
B. Vijyalakshmi Pandit 
C. Aruna Asaf Ali 
D. Sarojini Naidu 
ANSWER: D 

 

28. Which one of the following manuscripts is included in the UNESCO’s 
Memory of World Register? 

A. Rig Veda 
B. Ramayana 

C. Mahabharata 
D. None of the given choices 
ANSWER: A 

 

29. “Springing Tiger: A Study of a Revolutionary” is a biographical work 

on     

A. Bhagat Singh 
B. Chandrashekhar Azad 
C. Subhash Chandra Bose 
D. Shyamji Krishna Verma 
ANSWER: C 

 

30. Jamuna river of Bangladesh is river of India. 

A. Yamuna 
B. Teesta 
C. Brahmaputra 
D. Ganga 
ANSWER: C 



DUK Online Selection Test - Library Assistant 
Answer Key 

 

31. “Right to vote” can be placed in which among the following 

categories? 

A. Fundamental Right 
B. Constitutional Obligation 
C. Fundamental Duty 
D. Legal Right 
ANSWER: D 

 

32. Physical condition of the books should be properly maintained. This 
is known as 

A. Collation 
B. Conservation 
C. Shelf-arrangement 
D. Organization 
ANSWER: B 

 

33. The first centre to use computer in the library and information 
activities in India is 

A. DESIDOC 
B. INSDOC 
C. DRTC 
D. UGC 
ANSWER: B 

 

34. What does the acronym FRBR stand for? 
A. Functional Requirements for Better Records 
B. Functional Requirements for Bibliographic Records 
C. Functional Records for Big Research Libraries 
D. None of the options given 
ANSWER: B 

 

35. What is called the use of computers in the functions, activities, and 
services in libraries? 

A. Library functions 
B. Library operations 
C. Library automation 
D. Automatic library 
ANSWER: C 

 

36. The e-index is a/an 
A. Associated with excess citations 
B. Associated with low citation 
C. Numbering an online book 
D. None of the options 
ANSWER: A 

 

37. The Impact Factor(IF) is: 
A. The average number of publications in the particular year 
B. The total number of publications in the particular year 
C. The total number of citations received for each published article in 
the particular year 

D. The average number of citations received for each published article in 
the particular year 

ANSWER: D 
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38. The study of the quantitative aspects of information in any form, not 
just records or bibliographies and any social group, not just scientists 

is called: 

A. Wikimetrics 
B. Informetrics 

C. Webometrics 
D. Blogometrics 
ANSWER: B 

 

39. Expansion of h-index 
A. Harris Index 
B. Hirsch index 
C. Hue index 
D. None of the options 
ANSWER: B 

 

40. What is CCF in Library Science? 

A. Concurrency Configuration File 
B. Cabernet Configuration Files 
C. Common Communication Format 
D. Common Code Ftp 
ANSWER: C 

 

41. Yard is to inch as quart is to 
A. gallon 
B. ounce 
C. milk 
D. liquid 
ANSWER: B 

 

42. Candid is to indirect as honest is to 
A. frank 
B. wicked 
C. truthful 
D. untruthful 
ANSWER: D 

 

43. Marathon is to race as hibernation is to 

A. winter 
B. bear 
C. dream 
D. sleep 
ANSWER: D 

 

44. Look carefully for the pattern, and then choose which pair of numbers 
comes next. 

42 40 38 35 33 31 28 

A. 25 22 

B. 26 23 

C. 26 24 

D. 25 23 

ANSWER: C 
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45. Look at this series: 

53, 53, 40, 40, 27, 27, ... 

What number should come next? 

A. 12 
B. 14 

C. 27 
D. 53 
ANSWER: B 

 

46. Find the missing Letter Series. 
CMM, EOO, GQQ, , KUU 

A. GRR 
B. GSS 

C. ISS 
D. ITT 
ANSWER: C 

 

47. If A + B means A is the mother of B; 
A - B means A is the brother B; 

A % B means A is the father of B and 

A x B means A is the sister of B, 

which of the following shows that P is the maternal uncle of Q? 

A. Q - N + M x P 
B. P + S x N - Q 
C. P - M + N x Q 
D. Q - S % P 
ANSWER: C 

 

48. Pointing to a photograph Anjali said, "He is the son of the only son 
of my grandfather." How is the man in the photograph related to Anjali? 

A. Brother 
B. Uncle 
C. Son 
D. Data is inadequate 
ANSWER: A 

 

49. A is the son of C; C and Q are sisters; Z is the mother of Q and P is 
the son of Z. Which of the following statements is true? 

A. P and A are cousins 
B. P is the maternal uncle of A 
C. Q is the maternal grandfather of A 
D. C and P are sisters 
ANSWER: B 

 

50. This question is based on the following information: 
M % N means M is the son of N. 

M @ N means M is the sister of N. 

M $ N means M is the father of N. 

Which of the following shows the relation that C is the granddaughter of 

E? 

A. C % B $ F $ E 
B. B $ F $ E % C 
C. C @ B % F % E 
D. E % B $ F $ C 
ANSWER: C 
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51. If A + B means A is the brother of B; 
A - B means A is the sister of B and 

A x B means A is the father of B. 

Which of the following means that C is the son of M? 

A. M - N x C + F 

B. F - C + N x M 
C. N + M - F x C 
D. M x N - C + F 
ANSWER: D 

 

52. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY 
coded in that code? 

A. CPNCBX 
B. CPNCBZ 
C. CPOCBZ 
D. CQOCBZ 
ANSWER: B 

 

53. In a coded language ‘HOSPITAL’ is written as ‘32574618’ in the same 
language ‘POSTAL’ would be written as 

A. 752618 

B. 725618 

C. 725168 

D. 725681 

ANSWER: B 

 

54. In a certain code, TRIPPLE is written as SQHOOKD. How is DISPOSE 
written in that code? 

A. CHRONRD 
B. DSOESPI 
C. ESJTPTF 
D. ESOPSID 
ANSWER: A 

 

55. Find the odd one in: 
1, 4, 9, 16, 20, 36, 49 

A. 1 
B. 20 

C. 9 
D. 49 
ANSWER: B 

 

56. Spot out the odd one in: 
41, 43, 47, 53, 61, 71, 73, 81 

A. 61 
B. 71 

C. 73 
D. 81 
ANSWER: D 

 

57. Find out the wrong number in the given sequence of numbers: 
582, 605, 588, 611, 634, 617, 600 

A. 634 

B. 611 

C. 605 

D. 600 

ANSWER: A 
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58. Choose the box that is like the box formed from the given sheet of 
paper (X) 

 

 

A. 1 and 2 only 

B. 2 and 4 only 
C. 2 and 3 only 
D. 1 and 4 only 
ANSWER: C 

 

59. Observe the dots on the dice (one to six dots) in the following 
figures. 

 

 

How many dots lie opposite to the face that contain four dots? 

A. 2 
B. 3 
C. 6 
D. Cannot be determined 
ANSWER: A 

 

60. The six faces of a dice have been marked with alphabets A, B, C, D, E 
and F respectively. This dice is rolled down three times. The three 

positions are shown as: 

 

Find the alphabet opposite A. 

A. C 
B. D 
C. E 
D. F 
ANSWER: C 


